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SIO|E2|E(+74.1), E2{AQISI0|EE|E(+279.9), T=AKXK+32.3), T7|XK+234)

53] slojHEl=x 13719 9% And FIHE ANE, K5 RAE

< '21.3% XItA 2l (SH9] - o}, %)
T & '21.3¥ Hgd| |HMESEH|| '21.1-38€ | HASIH|
et A 30,316 49.8 59.0 68,546 90.5
SIO|E 2| E(HEV) 18,354 30.7 74.1 48,284 120.0
M I|XHEV) 8,992 123.4 234 13,331 13.4
E2{1021510| 22| E(PHEV) 2,036 27.5 279.9 5,287 401.6
2= A XHFCEV) 934 64.4 323 1,644 337
* AR St AtES AR, St AtE AR
O (FE) A A% £ 322 293% 78t 9 93 g $&
24, FEFIL2 6 A F7H+344%)3 829 FE
o FX HEV(2010¥¢~) v ) Fo=2 slolrgl=rt A F7I,
ZA7)12= UZEV (6,185, +1782%) A1s 3 2AHZ2 414 A% F7}

* X5Y 2L SLE%): SI0|E2|= +354, M7|X} +17.6, PHEV +32.0, &%} +133.3
* MIIKF =ELH4= : (19.3) 4905CH(168.9% 1) — ('20.3) 8,680CH(77.0% 1) — (21.3) 10,212CH(17.6% 1)
o JF{RZA FEulFT e AA 8 FEHIFTY 16.9%, T=A(B29E)
HE2 AA 82 599 18.6%(27%p 1) XA
* KgAK £+ZFH|S ; (‘119.38) 96% — (20.3¥) 12.9% — (21.3H) 16.9%(4.0%p 1)
* KEY =2d SUE%): 7| - £2K} +277.8, SI0|HE|E +334, E2{QSI0|HE|E A54.9
* 2038 159% — 2132 186% / 17| - 4K} 7.99%3528), SI0|EE|E 81%(3.62USE), PHEV 25%1.198)
< 21.38 ¥&FEX XFE =& g > 19 - o %)
T = '21.3¥ MEH | HMASEH | '21.1-38 | HIASIH|
2 A 33,164 28.3 29.3 91,806 57.2
5t0|E 2| E(HEV) 18,076 25.6 354 50,455 64.3
7| XHEV) 10,212 12.6 17.6 31,110 54.2
S 02I510|E 2| E(PHEV) 4,666 104.6 320 9,834 35.2
=2 XHFCEV) 210 103.9 133.3 407 59.6

* ME et A A R e
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il 5| 38 AHE XISA W T HE
< 21.38 M8 AtsAt =L THOf g >
(EH2l - O, %)
T = '21.3€ ™ @y| HA S EH| H[ S 21.1-3¥ HMAS7(H|
g Al 171,340 38.9 -0.9 100.0 432,349 11.3
] 73.810) SA ISRt | I a1 185,413| ... 6.6
EATRL S RN SLEICLEY IR 387 B 29.8) ... 130,075 ... 1.4
=R 6,149 ... 20.6) ... ] -] I 17,853) ... 8.9,
K= 4,306) ... 611 LA 0] I 12,627 ... Ter9,
Exdd 5,895 ... 6.0 . 7026 .33 13,129] ... 7343
B ] LY ISR 61.2 . 9 2.7 04 1,270 56.2
Mercedes—Benz| . 1997 831 92 A 19,222) ... 24.8,
BMW 6,012 ... 6.2 ... 25.0) .85 17,889 ... 3.9
Audi 2,087 199 .88 e A0T 202.2
Volkswagen | . 1,628 ... 8 SR L S 4.847) 1.5,
Jeep e 1987 . 240.7) ....A0re) L0 2,882 ... 82.6,
Voo LEXSL A S 8,851 ... 14.5,
MINL 1,224 36.8) . 259 .0 2,831 25.0,
Porsche | 980) S 179 .08 .. 2,973] ... 86.7,
Lexus | 860| . ... 2r9).......109.2 0.5 1.980) ... 41.9
Ford SR I 64.3| A0S 1,388 ... T23.5
Toyota |l Sind I 814 SRR IO | N 1,388 ... 10
Lincoln | 349l . 18.7) 84 /) 02 1129 106.0
Honda . 333 SARR I 435 02 [G] ~19.8
Land Rover | ... 292| BRG] 7208 0 946| ... 736.7.
Peugeot | 279 ... 293.0| ... 16.7) .02 433 -16.4,
Cadillac__ | 124) 9.8 ... AT I o ) IS IE] . -1
Maserati | ... 8 24.6) . 958 00 190) 231
Jaguar | Sod IR 880 260 .00 ] LEAS] I T23.1,
Citroen | Az ] 61.5 ... 06 00 ] 100] ... 68.8
‘Lamborghini | .. S 0.0) ... 409 00 8] 39.7,
Bentley | 20| ... 100.0 ... 176 0 SIS] R 19.6
RollstRoyce | .12 . TASS) 500 00 53] 65.6,
Infiniti Y IR IS Z100.0f 00 o PO ~100.0,
Nissan | Y ISR IS Z100.0f 00 B O ~100.0,
Tesla 3,194 15,870.0 27.8 1.9 3,230 -20.6
EI PN 140,523 39.5 -6.2 82.0 356,651 8.2
==& X} 30,817 36.6 33.7 18.0 75,698 28.6
2 N SIXNSAULYEL, SRS URERY
ZAKL B, 7|0}, SRX|U, W, 2 ALY, EIEIHS
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&1 6 338 AUME SEX W T HE
< 21.38 gGNE S&Xt LTl g >
(Tt - TH, %)
T &2 '21.3¢ M ad| M S| H|S 21.1-38 HMAS7|H|
gt Al 146,035 38.2 -3.2 100.0 371,229 11.3
A2 STTeAl A8l 0.6 ....39:5] ... 1456771 ........20.2
Zlot | 43376 334l 734297 . 112,941 .02
=R 5,202 218 .. 738.5) .. S.6| ......14e44 Sl
L8 4,308 .81 872 . 2.9 ......2k2r -2r.9
Bxad 5,639 ......49.2| ... 524 8.9l ........12,858] .. 234.6
Mercedes—Benz| 0,997 L Ss A%l 52| .....19222) 248
BMW 6,012 ... 6.2 .......250| ... Al 389l 838
Audi 2,737 NS89 137.8) ... L9 7,401 202.2
Volkswagen _ | ... 1.628) .78 519 LN P 4,647 ....31.5
Jeep e 1,957 . 240.7) .. 177.50 ... LY SO 2,682) .......82.6
Volvo | 1,291 Ll R 4 0.9 3,651f ......145
MING e 1,224) .....36.8] ....25.9] ... 0.8 . 2,831 .....25.0
Porsche  f...........980| . [5:] ES—— LA S A 2,573 .......86.7
Lexus o f..........860 270 ... 1092 . 08| ... 1,980 .....41.9
Ford 88 BAS| . 4.3 . 0.4l 1,338 ... 7235
Jdoyota o f..hAAl o sAl s 0.4l 1,398 .. 1.0
Lincoln fo........849l s 84.71 ... 0.2 1,029 106.0,
Honda _  |...........833[ ..81.Al ......A88 . 0.2) o TAS 2193
Land Rover [ ........292[ _ZlAl....... T40.8) . 0.2) 948 236.7
Peugeot |...........279[ . 293.0 ... 6.7 ... 0.2) A8l 2164
Cadillac | _..........124 968 . 2180 oM .2
Maserati ... 81 .......248[ 59.8] ... LS D -1%) TR L
Jaguar . oAl 8B T26.01 .. 0.0 ....Am8l z23.1
Citroen e a2l ....8usl 567 0.0) ........1001 ... -68.8
Lamborghini__ ... 1 0.0 .......20.9 . 0.0 811 ........89% 7
Bentley 200 ... 100.0 ... 17.8] ... 0.0] 55 ......196
RollstRoyce [ . ... 12l TASSL 50.01 ... 0.0) 53| .........6%.6
nfiniti e O 7100.0) 0.0 .9 7100.0
Nissan 91000 0.0 ..........0_.....7100.0
Tesla 3,194 15,870.0 27.8 2.2 3,230 -20.6
= AR} 115,274 38.5 -0.8 78.9 295,802 15.9
o=l X} 30,761 37.1 -11.4 21.1 75,427 -3.5
*E AN SRASAMYS], SRS YRR
* FAR O, 7o SRA|Y, HE, 2= AEEIHAY
Of EEX=Z0 CHotKH XtAlst HES RotAH MESAXNEE X=Xt
eyl (O] 31 2l 222 2H(044-203-4323) Ol Hl @12+3=A1D| HEZHLICH.
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